Q.2. ‘The two extremes are alike’ means- 1
a) extreme positive is better than extreme negative.

b) excess of anything is not good.

c) we get almost the same result in both the situations.

d) all of the above.

Q.3. Which word in the passage is opposite of ‘slow’? 1
a) resist

b) rapid

c) lazy

d) strike

(Q.4-8) : Choose the correct option to answer the following-

Q4.1 there with my parents. \)\4 1
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Q.5. If you want to know about new things you are — 1
a) cautious

b) conscious

c) careless

d) curious

Q.6. Rearrange the following word clusters to make a meaningful sentence- 1
loves / my / to / share / toys / brother / his

a) my toys loves to share his brother

b) brother loves his toys to my share

c) my brother loves to share his toys

d) to share my brother his toys loves



